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1 m
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 + 6m + 5 = 0; m = –1 or m = –5 0.5 
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 and U1 – U0 = 1; then (Un) is not arithmetic 
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1 (x – 2)
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 + (y – 3)
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 = 13; I(2 , 3) and R = √   u 0.5 

2 BI = √   u; BI > R, then B is at the exterior of the circle 
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a m(1) – (–2) – m – 2 = 0 0.5 
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(dm) tangent to (C); d(I , (dm)) = R; 
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c The tangent lines are of equations: y = 
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cos(2x) = 1 – 2sin

2
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VI 

1 f (x) = 
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2 A  (C); b = 3 

(AB) tangent to (C); f (xA) = slope of (AB) = 2; f (0) = 2; a = 2 
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On the interval ]     [: f is continuous and strictly increasing, and f(x) changes 

signs from    to +1; then the equation f(x) = 0 has a unique root α. 

f(–0.2) = and f(–0.1) = ; f(–0.2) ×f(–0.1) < 0, then –0.2 < α < –0.1 
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4 y = 9x + 1 1 
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At x = 2: f (2) = 0 and f (x) changes 

signs (– to +). I(2 , 3) 
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7 f(x) > 0 when x > α. 0.5 
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a 
Dg =   centered at zero and                 

g(–x) = f( | –x | ) = f( | x | ) = g(x) 
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If x ≥ 0: (G)   (C) 

If x < 0: (G) is the symmetric of the first 

drawn part with respect to the ordinate 

axis 

0.5 
(cnstrct) 

0.5 
(G) 



 

 

 


